=g COOKTOP PARTS %chl_:;leﬁ
Flpool  For Models: RCS3014RB01,RCS3014RQ0L, RCS3014RS0L,RCS3014RTOL COOKTOP
(Black)  (Designer White) (Stainless Steel) (Biscuit)

1/'

Literature Parts

FOR ORDERING INFORMATION REFER TO PARTS PRICE LIST
12-05 Litho in U.S.A. (cre) 1 Part No. 8186514



COOKTOP PARTS
For Models: RCS3014RB01,RCS3014RQ01,RCS3014RS01,RCS3014RTOL

(Black)  (Designer White) (Stainless Steel) (Biscuit)

lllus. Part

No. No. DESCRIPTION

1 LITERATURE PARTS
8286310 Installation

Instructions
8286613 Use & Care Guide
3191638 Safer Cooking Tips
9759133 Safer Cooking Tips
2 8286401 Bracket, Switch
Mounting
3 3192454 Bracket, Mounting
4 Cooktop
8286392WH Designer White
8286390LM Stainless Steel
8286392BL Black
8286392BT Biscuit

5 8286373 Burner Box

6 Panel, Control
8286499 Black
8286500 White
8286501 Biscuit

7 Switch, Infinite
3191472 Use W/8" Element

(Silver Shatft)
3191471 Use W/6" Element
(Blue Shaft)

8 4456181 Light, Indicator

9 4455917 Bracket, Mounting

10 3400093 Screw

11 Pan, Surface
3195208 6" Pan (2)
3195209 8" Pan (2)

12 Unit, Surface
8053266 6" (2) 240V
3191454 8" (2) 240V

13 3195917 Clip, Element

14 Knob, Control (4)

8286043BL Black
8286043WH White
8286043BT Biscuit

15 3183956 Seal, Switch

17 3191506 Bushing, Conduit

19 3196537 Screw, 8-18 x 3/8

20 3400855 Screw, 8-32 x 1/4

22 3400015 Screw, 10-32 x 3/8

23 3177991 Screw, 8-18 x 1/4

WIRING HARNESS PARTS

8286368

4454384
8286375

WIRING HARNESS PARTS

Harness, Wire
(Main)

Wire, Ground
Conduit Assembly

8186514



